Economics: The Basics

Study Guide: Chapter 17

Learning Objectives

LO17-1 Summarize the basics of income distribution.

LO17-2 Identify some reasons why income inequality and poverty have rise in recent years.

LO17-3 List and discuss the arguments for and against government action to reduce inequality.

LO17-4 Explain how the tax system can be used to redistribute income.

LO17-5 Give examples of labor market discrimination.

Outline

· The Basics of Income Distribution
· Quintile
· Represents 20% of households
· The top quintile represents the top 20% of households and the bottom quintile represents the bottom 20% of households, with the remaining second, third, and fourth quintiles in the middle.
· Measuring Income Inequality

· 80/20 ratio: Divide the 80th percentile by the 20th percentile; this measures the spread between the top quintile (80th percentile of income) and the bottom quintile (20th percentile of income).
· A ratio closer to 1 indicates greater equality.
· Income inequality over time

· According to the 80/20 ratio, income inequality has been gradually increasing over time.
· An alternative view (by examining tax records) shows a significant increase over the last 30 years.
· However, this may be skewed, because it does not account for Social Security payments as income and does not account for tax evasion.
· Reasons for increasing income inequality over time

· Education premium
· Growth of Foreign trade
· Rapid Technological change
· “Superstar” markets
· Changes in government policy
· The Poverty Rate measures the percent of people living in households with incomes below the poverty line.
· This fails to account for in-kind transfers (food stamps), the decline of poverty in some subgroups, and that U.S. poor may have a better standard of living than the average family in a poor nation.
· The Debate Over Inequality
· For arguments for and against government intervention see Table 17.3 from your textbook.
· Taxes and Redistribution

· Progressive taxes make the distribution of income more equal.
· The pre-tax income distribution would still be unequal, but the after-tax income distribution would be more equal due to the tax.
· The Effective Tax Rate (the share of income the household pays in taxes) is higher for high-income households and lower for low-income households.
· Regressive taxes are those which cause low-income households to pay a larger share of their income than high-income households (i.e. sales taxes).
· Discrimination
· There are pay differences between men and women, as well as between racial groups. Some argue that the difference is caused by the education premium, but in some cases the data tends not to support that conclusion – for example, the pay difference between men and women still exists, even after adjusted for education.
Common Myths & Common Problems

· Aren’t the rich getting richer and the poor getting poorer?

· It is not clear that income inequality is dramatically worse now than before. If we examine the 80/20 ratio, there has been a gradual increase of income inequality over the last 30 years, but it is not really that great. If we examine the share of income going to the top 1% of taxpayers, it has increased a lot; but there are empirical and methodological problems using the latter data. The best answer is there has been increasing inequality, but it’s probably not as dramatic as politicians, pundits, and preachers make it out to be. As with all data, there are measurement problems.

· Also, none of these measures do a good job of capturing income mobility. We are a highly income mobile society. The average college student today probably qualifies as living under the poverty line, but most of them will be earning much more than that after graduation. This kind of mobility isn’t captured by these data sets.
· Isn’t the poverty rate in the U.S. a good guide to how horribly our poor live?

· No. As with any statistic, the poverty rate does not capture as much as people would like it to. It does not take into account in-kind transfers (i.e. Medicaid, Social Security Payments). In addition, it does not take into account the fact that the standard of living of the U.S. poor is substantially better than the average family in a poor country.
· Shouldn’t we have a heavy progressive tax and redistribute that money to the poor to make the world a better place?
· It’s not clear that this will work as well as people expect it to, though it may be effective up to a certain point. Under a progressive tax, the after-tax income is more equal, but we also have to look at incentives. If I am going to be subject to a heavy progressive tax, what incentive do I have to work hard (why wouldn’t I just hide my income)? Also, what incentive do the people receiving the redistribution have to improve their situation? If they improve their situation, they lose the wealth transfer AND they will face higher taxes. 
Real World Applications from an Economist’s Perspective

Often, politicians promise to help the poor and disadvantaged through government intervention; we especially hear these promises during an economic downturn or an election year. However, there is some concern that this intervention may hinder economic growth. One concern about using government intervention is that it leads to an increase in rent-seeking behavior. Recall that rent-seeking is using scarce resources to influence government decision-making; it is an enormous burden on the economy, and often leads to poor government decisions.

During the summer of 2008, amidst financial concerns, employment concerns, and other economic strife, rent-seeking rears its ugly head. In the July 17, 2008 edition of the Boston Globe, the headline on the “City & Region” section reads, “Lobbyists prosper in down economy” (B1). According to the article, $38.5 million had been spent on lobbying in Boston during the first six months of 2008; these lobbyists were attempting to influence Massachusetts’ state policy.

The problem is that when special interest groups see that the government is willing to intervene in the economy, they will spend money to affect the forthcoming policies. The concern of some economists is that the money spent on rent-seeking is entirely a complete loss to the economy. This money could have been used to make long-term investments, enhance product lines, hire more employees, or any number of growth-enhancing investments. Instead of competing in the marketplace, where consumer wants must be satisfied, money is spent in the political arena, where consumer satisfaction is a non-variable.

The concern with rent-seeking is that society will lose both the efficiency loss of ABC and the amount of the rent because rent-seekers will have an incentive to spend up to the amount of the rent. In the end, society must endure the cost indicated by the entire shaded region.
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Now it’s Your Turn

1.  Here’s a thought experiment for you to consider: The Palace of Versailles, where the King of France used to live, has no toilets. The Vanderbilts’ summer home, The Breakers, in Newport, Rhode Island, has no air conditioning. Both of these homes are extremely lavish and were built by the exceptionally wealthy. Now, picture a trailer home with a toilet and a window air conditioning unit, owned by someone living near the poverty line; where would you rather live during the summer? Explain how the person in the trailer may have a higher standard of living.

Practice Quiz

1. A quintile:

a. Represents 15% of households.

b. Represents 5% of households.

c. Represents 20% of households.

d. Represents 25% of households.

2. The 80/20 ratio represents:

a. The 20% of households who are wealthier than the remaining 80%.

b. The share of households who are poorer than the top 80%.

c. The spread of income between high-income and low-income households.

d. The spread of income between the middle class and low-income households.

3. Which measure shows a large increase in income inequality?

a. The 80/20 ratio.

b. The share of income going to the top 1% of taxpayers.

c. The poverty rate.

d. The share of income held by those below the poverty line.

4. Which measure shows a gradual increase in income inequality?

a. The 80/20 ratio

b. The share of income going to the top 1% of taxpayers

c. The poverty rate

d. The share of income held by those below the poverty line

5. Rapid technological change:

a. Increases income inequality by favoring educated workers.

b. Increases income inequality by favoring low-skilled workers.

c. Decreases income inequality by favoring educated workers.

d. Decreases income inequality by favoring low-skilled workers.

6. The growth of foreign trade:

a. Has increased income inequality by hurting educated workers.

b. Has increased income inequality by hurting low-skilled workers.

c. Has decreased income inequality by hurting educated workers.

d. Has decreased income inequality by hurting low-skilled workers.

7. Over the last 30 years, global poverty has:

a. Remained constant.

b. Increased.

c. Decreased.

d. Decreased, but increased recently.

8. The education premium has:

a. Decreased income inequality.

b. Decreased foreign trade.

c. Increased income inequality.

d. Increased national debt.

9. Progressive taxes and redistribution tend to:

a. Reduce post-tax income inequality.

b. Reduce pre-tax income inequality.

c. Increase post-tax income inequality.

d. Increase pre-tax income inequality.

10. Sales taxes act as:
a. A progressive tax on higher-income households.
b. A progressive tax on lower-income households.
c. A regressive tax on higher-income households.
d. A regressive tax on lower-income households.

Answer Key

1.  C

2.  C

3.  B

4.  A

5.  A

6.  B

7.  C

8.  C

9.  A

10.  D

